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The equation e —e=*" -4 =) has :
(17 infinite number afreal roots

(2 noreal roots

(3) exactly ane real root

(4) exactly four real roots

Let & and b betwo unitvectors. Ifthevectars 5 —3.2f and =55 — 4f are perpendicularto each other,

thenthe angle between 3 and his

(1) 2) ®) 3 )

o] =
S
-b-i.']

A spherical balloon is filled with 4500= cubic metersof helium gas. If a leak inthe balloon causesthe gas to
escape atthe rate of 727 cubic meters per minute, then the rate {in meters per minute) at which the radius
of the balloon decreases 49 minutes after the leakage beganis

| L0

(1) = 25 Bg @)

Statement-1: The sumofthe series 1 +(1 +2+4) +{d +b6+9) + (B +12+16) +.... +(361 +350 +400)
I 8000,

1]
Statement-2 : E [I-:3 —[I-:—‘I]|3]| =n* foranynatural numbern.
k=1

(1) Statement-1 is false, Statement-2 is true.

(2] Statement-1 is true, statement-2 s true; statement-2 is a carrect explanation for Statement-1.

(3) Statement-1 is true, statement-2 is true; statement-2 is not a correct explanation for Statement-1.
(4 Statement-1 is true, statement-2 is false.

The negation of the statement

‘If | become ateacher, then | will open a school’, is

(11| will become a teacher and lwill not open a schoaol.

() Either | will not become a teacher or | will not open a schoal.
(31 Meither | will became a teacher nor | will open a school

(4 | will not became a teacher or | will open a schoaol.

r Stanx
If the int I
e integral | s

L= (2)-2 (31 (4]

dx=x+adn|sin x—2cosx|+k, thenais equal to :

Statement-1:  Anequation of a common tangent to the parabola v = 1643 x and the ellipse 2% +y* =4
sy =2x + 243

—
]
I

Statement-2: [ftheliney=mx+ % Jm =07 isa comrmon tangent to the parabola 2= 164/3 xand the

ellipse 2% + 42 =4 then m satisfies m* + 2m=* =24 www.1Practice.in
(1) =tatement-1 15 false, Staterment-2 1s true.



10.

11.

12.

13.

14.

15.

1.0 0 (1 (0
LetA= 2 140 | Ifu and u, are column matrice s such that A, = d andAu, = 1 thenu, +u isequal
-3 1-_' - -.-|:|-.I = |._-|:|-.| =

to:

[ _1 | [l _1-\.' I _1 | 1 |

1 1 -1 -1

(1) () (3) (4)

| |:| | I-_"I-.I I |:| | l__'] |
If nis a positive integer, then :_wﬁ_*],ﬁ” - :_.u@_*]:z” i
(1) anirrational number (2] an odd positive integer
(3) an even postive integer (41 a rationalnumber otherthan positive integers

If 100 tirmes the 100" term of an AP with non zero common difference equals the 50 times its 50" term, then

the 150% term of this AP is
(11-150 (2 150 times ts 50% term

(31150 (4] zero

Ina APCR,if3snP +4 cos@=6and4 sin @ +3cos P=1,then the angle R is equal to
% % 5 X

s 2 g B 5 O

Aeqguation of a plane parallel to the plane x— 2y + 2z — 5 =10 and at a unit distance from the ongin is :
Mx-2y+22-3=0 2Ix-2y+22+1=0 QA u-2y+2z-1=0 (4 x-2y+2z+5=10

Ifthe line 2x + y= k passes through the point which divides the line segment joining the paoints (1, 1) and
(2, 411in the ratio 3 : 2, then k equals :

29 11
iy 25 36 OF~
Let B b e be nobservations, and let ¥ be their arthmetic mean and s2be the variance
Statement-1: “ariance of 2x, 2%, ..., 2%, isdc”
Statement-2 :  Arithmetic mean 2w, |, 2%, , ..., 2%, is 4%,

(1) Statement-1 is falze | Staterment-2 is true.

(2] =tatement1 is true | statement-2 is true; statement-2 15 a correct explanation for Statement-1.

(3) Statement1 is true, statement-2 is true; statement-2 15 not a correct explanation for Statement-1.
(4} Staterment-1 is true, statement-2 1= false.

The population pit) at time t of a certain mouse species satisfies the differential equation

dpit

% =0.5p(t) —450 If p(0)= 850, then the time at which the population becomes zero Is
1

(1)2 én 18 (2) £n3 (3]351118 (4) in 18
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17.

18.
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20.

21.

22.

Leta, b = K be such that the functionf given by fix) = én || +bx*+ax, x =0 has extreme values at x=-1
and x=2.
Statement-1: fhas localmaximumatx=—1andat x=2
1 -1
Statement-2: a= 5 and b = 1
(1) Statement-1 1s false, Staterment-2 is true.
(2) staterment1 1s true, statement-2 is true; statement-2 15 a correct explanation for Statement-1.
(3) Statement-1 s true, statement-2 is true; statement-2 15 not a carrect explanation for Statement-1.
)

(4} Staterment-1 is true, statement-2 is false.

The area bounded between the parabolas x== j'; and x* =9y and the straight line y=2 is

. 1042 2042 =
(1) 2042 2) =3 13— (4) 1042

Assuming the balls to be identical except for difference in colours, the number ofways inwhich one ar mare
balls can be selected from 10 white, 8 green and 7 black hallz is :

(11880 (2629 (3) B30 (41873

| o (2x=1) | |
Iff: R — R isafunction defined by f(x) =[x]cos | 5 = where[x] denotesthe greatest integer function,
then fis

(1) continuous for every real x.

(2] discontinuous only at x=10.

(31 dizcontinuous only at non-zero integral values of x.
(4) continuous only at x=0.

. 41 _ _ _
If the line %1 = FS = 24—1 and H13 = Izk = 15 intersect, then k is equal to :

0|k
i
o —
k|

(1)1 (2] (4u

Three numbers are chosen at random without replacement from {1, 2, 3, ..., 8} The probability that their
minimum 15 3, given that therr maximum sk, is:

71| k2

1
@ 7 4)

m| —

)5 e)

2

ltz=1 and f 1 Iz real, then the point repre sented by the complex number z lies

(1) either on the real axis aran a crcle passing through the arigin.

)

(21 on a circle with centre at the origin.

(3 either on the real axis aran a circle not passing through the origin,
)

(4} onthe imaginary axis.
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23.

24.

23,

26.

27.

28.

29.

30.

Let Pand X be3 = 3 matrices P =G If PP =019 and P01 = 24P, then determinant of (P2 + (%) is equalto
(1)=2 (1 (3) 0 (4)=1
X

If gix) = | cosdt dt then gix + =) equals
i

(%)

M 9= (2) gix) +g(=) (3) g{x) —g(=) (4) aix) . g(=)

The length of the diameter of the circle which touches the x-axs atthe point (1,0 and passes through the
point (2,30 15

10
B

5 b =
(2] & &z (4 3
Letx ={1,2,3,4,5} The number of different o rdered pairs (¥, £} that canformed suchthat ¥ =X | Z =X and
Yo Lis empty, 15 ¢
(1)5° (2) 3 (3127 (4)5°

Anellipse is drawn by taking a diameter of the circle {(x — 1)+ =1 as its semi-minar axis and a diameter
of the circle k= +{y—2F =4 15 semi-majar axis. If the centre of the ellipse is at the origin and its axes are the
coordinate axes, then the equation of the ellipse 15 :

(19 432 + 42 = 4 (2132 +4y2 =5 (3) 432 +42 =B (4) 12 +442 = 16

Consider the function f{x) =|x -2 +|x-5|,x e R .

Statement-1: f{4)=0

Statement-2: fiscontinuous in [2, 5], differentiable in {Z,5) and f{Z) =f(5).

(1) Statement-1 1s falze | Staterment-2 is true.

(2) statement1 1s true, statement-2 is true; statement-2 15 a correct explanation for Statement-1.

(31 Statement-1 is true, statement-2 is true; statement-2 is not a correct explanation for Statement-1.
(4] Statement-1 is true, statement-2 i= false.

Aline iz drawn through the point (1, 2) to meet the coordinate axes at P and (1 suchthat it forms atriangle
OPL, where O is the arigin. if the area of the triangle OPQ is least, thenthe slope of the line PL is ¢

=5 (2)-4 3) -2 -5

LetABCD be a parallelogram suchthat AR =7, AD =p and £BAD be an acute angle. If 7 is the vector that

coincides with the aktitude directed from the vertex B to the side AD, then T is given by :

-

SIS

=1

(1) 7 =35 B
(p.p

g

o

=i
I

|
I

I.EI|E|
1 b

R
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32.

33.

PART-B (PHYSICS)

Awoodenwheel of radius B 15 made of two semicircular parts {see figure). The two parts are held together by
aring made of a metal strip of cross sectional area Sand length L. Lis slightly less than 2=R. To fit the ring
on the wheel, it is heated so that its temperature rises by AT and it just steps aver the wheel. As it cools
dowen to surroundifng temperature, it pressesthe semicircular parts together. If the coefficient of inear expan-
sion ofthe metal is «, and its Young's modulus i1s ¥, the force that one part of the wheelapplies onthe ather

part is
@ |
(1) 2xSYaAT (2) SYaAT (3) 7 SYaAT (4125 AT

Thefigure shows an experimental plot discharging of acapactorin an RC circuit. The time constant t ofthis
circuit lies between

L
o
=
% P 25
52 204
™=
2> 15
a \\
T 4 10
| s
0 50 100 150 200 250 300
Time in seconds ——
(111580 sec and 200 sec (210 and 50 sec
(3150 sec and 100 zec (4 100 sec and 150 sec

In a uniformly charged sphere of total charge 1 and radius R | the electric field E is plotted as function of
distance from the centre. The graph whichwould correspand ta the above will be ;

R e
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35,

36.

37.

38.

39.

40.

It a simple pendulum has significant amplitude (upto afactor of 1/e of ariginal) only in the period between
t=0stot =15, then t may be called the average life of the pendulum. When the spherical bob of the
pendulum suffers a retardation (due to viscou s drag) proportional to its velocty, with 'b' as the constant of
propottionality, the averatge life time of the pe ndulum is (assuming damping is small) in seconds:

0.6593 1 2
= 2) b Bl 4 <

Hydrogen atom is excieted from ground state to anaother state with principal guantum number equal to 4.
Then the number of spectral ines inthe emission spectra will be :

(132 (2] 3 (3 5 (416

A coilis suspended in a uniform magnetic fie ld, with the plane of the coil parallelto the magnetic lines of
force. When a current is passed through the coil it starts oscillating; it is very difficult to stop. But if an
aluminium plate i1s placed near to the cail, it stops. Thisis due to :

(1) developement of air currentwhen the plate is placed.

(2] induction of electricalcharge on the plate

(31 shielding of magnetic lines of farce as aluminium is a paramagnetic material,

(4 Electromagnetic induction in the aluminium plate giving rise to electramagnetic damping.

Themass of a spaceship is 1000 kg. It isto be launched from the earth's surface out into free space. The
value of 'g' and 'R’ (radius of earth) are 10 mfs= and 6400 km respectively. The required energy for thiswork
will be

(1164 =10" Joules (21 B4 =108 Joules

(3164 =10% Joules (b 4x10"Joules

Helium gas goes thraough a cycle ABCDA (con sisting of two isochoric and isabaric lines) as shown in figure.
Efficiency of thiz cycle is nearly
(Assume the gasto be close to ideal gas)

2P B, ¢
F | 4.
P ----- J&l ' i |D
V., 2V,
; u] ; Ju] : [ 4 u]
(1) 15.4% (29.1% (310 5% (4) 12 5%

In Young's double slit experiment, one ofthe slit iswider than other, so that amplitude of the light from ane =lit
is double of that frorn other slit. If L be the maximum intensity, the resultant intensity [ when they intarfere
at phase difference ¢ 1= given by

| ’ [ :. ; 2'1'.2 { ; z
(1) 5"[4 +5 cosé) (2 3"".-172|:D5 <) (3 g‘._“lvdn:n:ns

-
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42,

43.

44,

Aliquid in a beaker has temperature 8t) attimet and 8, is temperature of surroundings, then according to
Mewton's law of cooling the correct graph between log,(8—8y and tis

: 1
3 5
m ] o |
0 v
—t \ \
7 3
oK O
0 0 Q0 e

A particle of mass m is at rest at the origin at time t = 0. It is subjected to a force F(f) = F e in the x
direction. ltz speedy(t) is depicted bywhich of the following curves ¥

Twa electric bulbs marked 28V — 220V and 100W - 220 V are connected in senesto a 440 V supply. Which
of the bulbs will fuze ?

(1) both (2) 1000 (3) 25\ (4] neither

Resistance of a givenwire iz obtained by measuring the current flowing init and the vatage difference applied
acrossit. [fthe percentage errorsinthe measurement of the current and the voltage difference are 3% each,
then errar inthe value of resistance of the wire is

(116% (2) zero (3)1% (4] 3%
www.1Practice.in



45.

46.

47.

48.

Aboycanthrow a stone up to a maximum height of 10m. The maximum horizontal distance that the boy can
throw the same stone up towil be :

(13 2042 m (23 10m (3) 1042 m (4)20m

Thisequation has staterment 1 and Statement 2. Of the four choice s given the Statements, choose the one
that describes the two statements.

Statement1: Davisson-Germer experiment established the wave nature of electrons.

Statement 2 : If electrons have wave nature, they can interfere and show diffraction.

(1) Statement 1 i false, Statement 2 istrue.

(2] Statement 1 is true, Staterment 2 is false

(31 Statement 1 is true, Statement 2 is true, Statement 2 is the caorrect explanation for statement 1

(4) Statement 1 is true, Staterment 2 is true, Statement 2 is not the correct explanation of Statement 1

Athin liquid film formed between a U-shaped wire and a light slider supports a weight of 1.5 = 102 N (=ee
figurel. The length of the slider iz 30 cm and its weight negligible. The surface tension of the liquid film 1s

(190.0125 N (2)0.1 N (3)0.05 N (410.025 N

Acharge Qisunifarmly distibuted over the surface of non-condcting disc of radius B. The disc rotates about
anaxizsperpendicularto its plane and passing through its centre with an angularvelocity o. As a result ofthis
rotation a magnetic field of induction B 12 abtained at the centre of the disc. if we keep bath the amount of
charge placed on the disc and itz angular velocity to be constant and vary the radius of the disc then the
variation of the magnetic induction at the centre of the disc will be represented by the figure

www.1Practice.in



49. Truth table for system of four MAMND gates as shown in figure is

- i )
> D
A, B 1 A, B i
0 0 0 0 0 0
0 1 1 0 1 0
) 1 0 1 @) 1 0 1
1 1 0 1 1 1
A, B o A, B ke
0 0 1 i 0 1
0 1 1 0 1 0
3) i 0 | o &) 1 1 | o
1 1 0 1 1 1
a0, Avradar has a power of 1KY and iz operating at a freguency of 10 GHz. 1tis located on a mountain top of

height 200m. The maximum distance upto which it can detect object located on the surface of the earth
(Radius of earth=6.4 = 105 m) is:

(17180 km (2118 km (31 40 km (4] b4 km

51. Assume that a neutron breaksinto a proton and an electron. The energy released during this process is
imass of neutran=1 6725 = 107 kg, Mass of proton=1k725 = 10~ kg, mass of electron =15 = 10-* kq)
(110.73 Me (21 7.10 Met
(316.30 Me (41 5.4 MeY

52. A Carnat engine , whose efficiency iz 40% take s in heat from a source maintained at atemperature af S00K.

ltis desiredto have an engine of efficiency B0%. Then, the intake temperature farthe same exhaust (sink)
temperature must be

(1) efficiency of carnotengine cannatbe made largerthan 50%

(2] 1200 K

(3] 750 k

(41600 k
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a3,

.

25,

6.

a7.

58.

Thisquestion has Statement 1 and Statement 2. Of the four choices given afterthe Statements, choose the
one that best describes the twao Statements.

Iftwo springs S, and 5, of force constantsk and k,, respectively, are stretched by the same force  itisfound
that more work is done on spring S, than on spring =,

Statement 1: |f stretched bythe same amount, work done on & willbe more than that on S,
Statement 2 : k, <k,

(1) Statement 1 1s falze, Statement 2 is true.

(2] Statement 1 15 true, Statement 2 1= false

(2] Statement 1 15 true, Statement 2 is true, Statement 2 s the correct explanation for statement 1

(4] Statement 1 15 true, Statement 2 is true, Statement 2 12 not the correct explanation of Statement 1

Two cars of massesm and m, are maoving in circles of radiir and r, respectively Their speeds are such that
they make complete circles in the same time t. The ratio of their centripetal acceleration is :

(1hm v om,r, [1m, (r (4111

A cylindrical tube, open at both ends, has a fundamental frequncy, T, in air. The tube iz dipped verically in
waterso that half of itis inwater. The fundamental frequency of the air-column s now
(17 f (2] 142 (3) 34 (4)2f

Anobect2d minfront of a lens forms a sharp image on a film 12 cm behind the lens. Aglass plate 1 cm
thick, of refractive index 1 5015 interposed between lens and film with its plane faces parallel to film. At what
distance (from lens) should object shifted to be in sharp focus on film 7

(1172 m (2124 m (313.2m (4156 m

Adiatomic molecule is made of two massesm and m,which are separated by a distance r. [fwe calculate
itz rotational energy by applying Bohr's rule of angular momentum quantization, its energy willbe given by

(n iz aninteger)

(rriy + g 150 h? nh? - ) 2n2h2__ _ (g +rrig Inh?
2mimar? () 2(rmy +m,)r (my + g Jr? 2rm, myr

A spectrometer gres the following reading when used to measure the angle of a prism.

Pain scale reading . 58 5 degree

“ernier scale reading : 09 divisions

Giventhat 1 division on main scale correspondsto 0.5 degree. Total divisions on the vernier scale is 30 and
match with 29 divisions of the main scale. The angle of the prism from the above data

(1155659 degree (2158 .77 degree (3150.b5 degree (4159 degree
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59.

60.

61.

62.

63.

64.

63.

i

This questions has statement-1 and statement-2. Ofthe four choices given after the statements, choose the
onethat best describe the two statements.

Aninsulating solid sphere ofradius B has a unioformly positve charge densty p. As a result afthis uniform
charge distribution there s a finite value of electric potential atthe centre of the sphere | at the surface of the
sphere and also at a point out side the sphere. The electric potential atinfinite 1= zero.

Statement-1 : YWhen a charge ‘g’ 1s take from the centre of the surface of the sphere its potential energy
qe
changes by T

- : N
Statement-2 : The electric field at a distance r {r < Bl fromthe centre of the sphere is T

(1) Statement-1is true, Staterment-2 iz true; Statement-2 i not the correct explanation of statement-1.

)
(2]
(3] Statement 1 is false Statement 2 s true.
[4) Statement 1 1= true |, Statement 2 is true, Statement 2 15 the carrect explanation of Statement 1.

otaterment 1 i1s true Staterment 2 1s false.

Froton, Deuteran and alpha paricle of same kinetic energy are moving in circular trajectories in a constant
ragnetic field. The radiiof proton, deuteron and alpha particle are respectivelyr ryandr_ . Which one ofthe
following relation is correct?

“:I Fa ™ rp =Ty |:2:| Fa ™ rp =0y |:3:| PO ey rp H:I re =Ty rp

PART-C (CHEMISTRY)

Which amongthe following willbe named as dibromidabis (ethylene diamineg) chramium (111 bromide ?
(17 [Cr (en),]Er, () [Cr{en),Br |Er () [Crien)Br | (4)[Crien) Er,|Br

Which method of purification is represented by the following equation

Tilsy 20 () - 928k o TIE (g} 100K L Ti{s)+2L ]

(11 Zone refining 2] Cupellation (31 Polling (41 Wan Arkel

Lithium forms body centred cubic structure. T he length of the side of its unit cell 12351 pm. Atamic radius

of the ithium will be :
(1175 pm (21300 pm (31240 pm (41152 pm

The molecule having smallest bond angle is ;
(1 MCI () AsCl, (3) ShCI, (4) PCI,

Which of the following compounds can be detected by Malisch's test
(11 Mitro compounds (2] Sugars (A1 Amines (41 Primary alcohals

The incaorrect expression among the following is :

AG L igem | y
() AR = (2) Inisothermal process, w - =-nRT ¢n Y
& = SETS pp— smwibractibe’ia

T
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6o,

69.

70.

i1,

72,

T3.

4.

73,

76.

7.

The density of a solution prepared by dissalving 120 g of urea (mol. mass=b0 ) in 1000 g of wateris 1.15

g/mbL. The malarity of this solution is
(17050 (211.78 M (31 1.02 M (47205 M

The species which can best serve as an initiator far the cationic palymerization is
(1) LiAH, (21 HMO, (31 AIC], (4 Bali

Which of the following an thermal decomposition yields a bazic as well as acidic oxide ¥
(1) Mak O, () KCIO, (B Cato, (4) MH MO,

The standard reduction potentials for Zn™HZn, MittMiand Fe*Fe are —0.76, —0.23 and -0 44 Vrespectively

The reaction ¥ 4+ Y — ¥= + ¥ will be spontaneous when
(11X =Mi,¥=Fe (295 =Mi, ¥ =Zn (3) ¥=Fe,¥=2In (4 %=Zn, ¥ =N

Accarding to Freundlich adsarption isotherm which of the following iz correct?

% %
S a i i

(1] = (2) —e=p

(3] % e p ! (4) Allthe above are correct for different ranges of pressure

The equilibrium constant (K ) for the reaction M_{g) + 0,(g) — 2MO (g) attemperature T is 4= 10-

1
value of K for the reaction NO(g) — 3 M () + 3 01 (o) atthe same temperature is

(19002 (212 5 x 102 (3) 4 x 10~ (4150.0

The campressibility factor for areal gas at high pressure s
(111 +RT/b (271 (31 +pb /RT (411 —pbRT

Which one of the following statements is corre ct?

(114l amino acids except lysine are aptically active

(21 All amina acids are aptically active

(31 Al amino acids except glycine are optically active

(1Al amino acids except glutamic acids are optically actve

Aspirin s known as
(11 Acetyl salicylic acid i) Phenyl salicylate
(31 Acetyl =salicylate (d) Methyl salicylic acid

Crtho-Mitrophenal is less soluble inwater than p- and m- Mitrophenols because
(1) o-Mitrophenolis more volatile steam thanthose of m- and p-isomers.

(21 o-Nitrophenal shows Intramolecular H-bonding

(3 o-Mitrophenal shows intermolecular H-bonding

(41 Meling point of o-Mitrophenalis lowerthan thoze of m- and p-1somers.

How many chiral compounds are possible on monochlorination of 2- methyl butane ¥

(18 (2] 2 (3] 4 (4B

* The

www.1Practice.in



78.

79,

80.

81.

82.

83.

84.

83.

86.

“ery pure hydrogen (99.9) can be made bywh ich of the following processes ¥
(11 Reaction of methane with steam (2] Mixing natural hydrocarbons of high molecularweight

(30 Electralysis of water (4) Reaction of salts like hydrides with water

The electrans identified by quantum numbers nand £ :

fain=4, =1 (bin=4, ¢ =0
cyn=3, ¢ =2 [din=3, ¢ =1

can be placed in order of increasing energy as

(1) (c) < (d) =< (b) < (a) () (d) < (b) = (c) < (a)
(3) (b} < (d) = {a) < (c] (4) (a) = (c) = (b) = (d]

Far afirst order reaction (&) — productsthe concentration of A changes from 0.1 Mto 0.025 M in 40 minutes.
The rate of reaction whenthe concentration of Az 0.01 Mis:

(111.73 =107 Mimin (21347 =107 Mfmin

(373.47 = 107 Mimin (41 1.73 = 107* Mimin

lron exhibits £ and +3 oxidation states. Which of the following statements about ironis incorrect ¥
(1) Ferrous oxide is mare basic in nature than the ferric oxide.

(2] Ferrous compounds are relatively mare ionic thanthe carresponding ferric compounds

(2] Ferrous compounds are lessvolatile than the corresponding ferric compounds

(4) Ferrous compounds are more easily hydrolysed than the corresponding ferric compounds.

ThepHofa 0.1 maolar solution of the acid HG is 3. The value of the ionization constant, K, of the acid is
(113 = 101 (211 =103 (3) 1 =10-= (411 =107

Which branched chain izsomer ofthe hydrocarbaon with maolecular mass 72u gives only one isomer of mono
substituted allyl halide ¥
(1) Tertiary butyl chloride (2} Meopentane

[3)lsohexane (4] Meohexane

K forwateris 1.86 K kg mol™. If your automobile radiator holds 1.0 kg of water, how may grams of ethylene
glycol (G H.0.) must you add to get the freezing point of the solution lowered to —2.8°C 7

(1172 g (2)93 g (333 g (427 g

What = DDT among the fallowing
(1) Greenhouse gas () Afertilizer

(3) Biodegradahle pallutant (41 Mon-biodegradable pallutant

The increasing order of the ionicradii of the given izsoelectronic species is
Gk Gtk B 2)87, ElpGadh ke SV - o P U W e 18 il - o W

www.1Practice.in



87.

88.

89.

90.

2— Hexyne gives trans—2—Hexene on treatme nt with -

(1) PtH, (2L AMH, (4] Pd/Bas0, (41 LiAH,
lodaform can beprepared fromallexcept:

(1) Ethyl methyl ketone (21 lzopropyl alcohol

(21 3-Methy-2—butanone (41 [zobutyl alcohol

Inwhich of the following pairs the two species are notisostructural #
(110 and MO~ (21 PCI rand SiCl (3) PF_and BrF, (41 AF *and 5F,

Inthe given transformation, which the followin g 1sthe maost appropriate reagent ¥

CH=CHCOCH,
/O/ Feagent
_—
HO

CH=CHCH.CH,

HO

a8
(13 MH,NH.,, OH (2) Zn—HgHCl (3] Ma, Lig, MH, (4)NaBH,
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